1.
With fracture of the calcaneum, one will suspect associated
(a) fracture of the tibia 

(b) fracture of the femoral head

(c) fracture of the pelvis

(d) compression fracture of the spine 

(e) all of the above








(e)

2.
The pathogenic sign of rupture of the tendo-Achilles is

(a) inability to flex the foot

(b) inability to stand on tip-toe

(c) swelling of the heel

(d) local tenderness over the tendon

(e) failure to get plantar flexion of the foot on squeezing the calf


(e)

3.
The term Monteggia fracture is applied to those forearm injuries in which there is

(a) fracture of both bones of forearm 

(b) fracture of the shaft of the ulna with anterior, posterior or lateral dislocation of the head of the radius

(c) fracture of the shaft of the radius with dislocation of the inferior radio-ulnar joint

(d) fracture of the lower end of the radius

(e) fracture of the styloid process of the radius




(b)

4.
“Dinner fork deformity” in Colles’ fracture is caused by

(a) direct impact forces

(b) pull of brachio-radialis muscle

(c) bone loss associated with osteoporosis

(d) dislocated inferior radio-ulnar joint

(e) all of the above








(e)

5.
Which of the following is not true about posterior dislocation of shoulder?

(a) recurrent dislocation can develop 

(b) reduction can be unstable

(c) patients with reduced dislocation can have good function 

(d) clinical diagnosis is easy 

(e) axillary nerve injury is uncommon 





(d)

6.
Concerning fracture head of radius which of the following is not correct
(a) it is more common in children than adults

(b) quite often can be treated conservatively

(c) excision is required for comminuted fracture

(d) can lead to limitation of elbow motion 

(e) can be associated with inferior radio-ulnar joint disruption 


(a)

7.
What is the best treatment for an oblique tibial shaft fracture which has redisplaced after 
initial good closed reduction and plaster immobilisation?

(a) wedging of plaster

(b) remanipulation and plaster

(c)  open reduction and internal fixation 

(d) skeletal traction

(e) cast bracing








(c)

8.
Which of the following statement is not correct about ankle fractures?

(a) undisplaced malleolar fracture can be satisfactorily treated by plaster immobilisation 

(b) stress view x-rays are required to understand full extent of injury in ankle fractures

(c) accurate reduction is necessary to prevent development of osteoarthritis of ankle

(d) external rotation and abduction of foot is the commonest mechanism of injury in ankle fractures

(e) adduction injury is the least common cause of ankle fractures


(b)

9.
Which of the following statement is not true about fracture of patella?

(a) even undisplaced fracture require patellectomy

(b) quadriceps expansion may be intact in direct injury 

(c) quadriceps expansion is ruptured when gap is palpable between patellar fragments

(d) knee cannot actively extend if quadriceps expansion is ruptured

(e) displaced patellar fractures require operative treatment



(a)

10.
Which if the following statement is not true about severe varus strain injury of knee?

(a) usually no specific treatment is required

(b) fracture of head of fibula should arouse suspicion of this injury 

(c) lateral popliteal nerve can be damaged

(d) stress radiograph may be required to confirm the diagnosis

(e) plain x-ray can be normal even in the presence of extensive damage

(a)

11.
Tarsometatarsal dislocation should be promptly reduced because of

(a) danger of circulatory obstruction to forefoot

(b) danger of avascular necrosis of metatarsal bones

(c) reduction becomes impossible later on 

(d) stiffness and pain can be prevented

(e) open reduction can be avoided






(a)

12.
Which of the following statement is true about fracture of lateral tibial condyle?

(a) it is usually caused by varus strain 

(b) it is usually caused by valgus strain 

(c) medial collateral ligament is never injured
(d) special radiographic investigations are of no value
(e) operative treatment does not offer any benefit over conservative treatment 
(b)

13.
Which of the following is not applicable to the treatment of pathological fracture in an 
area of skeletal metastasis?

(a) femur is the commonest site

(b) it can be first indication of primary tumour

(c) quite often primary tumour cannot be identified 
(d) conservative treatment is the treatment of choice

(e) internal fixation is often required






(d)

14.
Fractures in senile osteoporosis are most often found in 

(a) femoral shaft 
(b) humeral neck 
(c) vertebrae
(d) femoral neck 
(e) small bones of feet







(c)

15.
The appropriate treatment for a stress fracture of the tibia is
(a) intramedullary nailing 

(b) plating of the tibia 

(c) external fixation of the fracture

(d) all of the above

(e) none of the above








(e)

16.
Highest value of serum alkaline phosphatase occurs in 

(a) rickets

(b) osteoporosis

(c) hyperparathyroidism 

(d) Paget’s disease

(e) hypophosphatasia








(d)

17.
Tufting of distal phalanx is characteristic radiological finding of

(a) hyperparathyroidism 

(b) gout

(c) psoriatic arthropathy

(d) osteoarthritis

(e) hypoparathyroidism 







(a)

18.
Even after adequate treatment, which type of nerve injury has worst prognosis?
(a) neuropraxia

(b) axonotmesis

(c) neurotmesis

(d) traction injury 

(e) entrapment neuropathy 







(d)

19. 
Which of the following is not seen in fat embolism?

(a) altered mental state

(b) petechial haemorrhages

(c) bradycardia

(d) hypotension

(e) Tachypnoea








(c)

20.
After a successful pinning of a hip fracture, a 60 year old grandmother complains on the 
7th post-operative day of leg pain. You think that you should examine her further for the 
one most likely complication

(a) missed fracture of the fibula

(b) deep venous thrombosis

(c) anterior compartment syndrome

(d) peripheral arterial occlusive disease

(e) cellulitis









(b)

21.
Which of the following is not a complication of chronic osteomyelitis?

(a) amyloidosis

(b) carcinoma

(c) septicaemia 
(d) pathological fracture

(e) brown tumour








(e)

22.
Salmonella Osteomyelitis commonly occurs in patients affected by

(a) liver disease

(b) rickets

(c) previous osteomyelitis

(d) sickle cell disease

(e) renal failure








(d)

23.
HLA B-27 will be present in which disease

(a) ankylosing spondylitis

(b) psoriatic arthritis

(c) Bechet’s syndrome

(d) some cases of Juvenile rheumatoid arthritis

(e) all of the above








(e)

24.
Which of the following statement is true regarding synovial fluid?

(a) normal bigger joints like knee have about 50 ml of synovial fluid

(b) it does not contain glucose

(c) its protein content is higher than blood

(d) it is ultrafiltrate of plasma

(e) it is secreted by synovial cells






(d)
25.
Which of the following regarding osteoarthritis (OA) is true?

(a) OA is not a genetically determined disease

(b) OA only affects the elderly population 

(c) OA of the knees usually presents with deformity 

(d) OA of the hip in the Asian population is usually associated with an underlying cause like dysplastic hip 

(e) OA is not seen in patients with rheumatoid arthritis



(d)

26.
Foot drop can be caused by all of the following except 

(a) leprosy 

(b) poliomyelitis

(c) spinal problems
(d) posterior tibial nerve injury
(e) fracture of the fibula neck







(d)

27.
In rheumatoid arthritis one of the following is not a complication of prolonged steriod 
therapy 

(a) depression of ACTH pituitary secretion 

(b) osteoporosis

(c) cutaneous striae and moon facies
(d) pathological fractures
(e) a rise in serum potassium 







(e)

28.
Which one of the following conditions is associated with generalised joint laxity?

(a) osteoarthritis

(b) arthrogryposis multiplex

(c) rheumatoid arthritis

(d) myositis ossificans 

(e) Ehlers-Danlos Syndrome







(e)

29.
The most important prerequisite for doing a successful Syme’amputation is

(a) an elderly patient

(b) a fit young adult

(c) a good postero-tibial pulse

(d) a normal ipsilateral knee joint

(e) a normal contralateral ankle joint






(e)

30.
In senile osteoporosis the blood levels of calcium and phosphate are generally

(a) high 

(b) low

(c) normal 

(d) high calcium, low phosphate

(e) low calcium, high phosphate






(c)
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